i

AT
sl

=

)
i
3

ol ||
ST B S A 9% sEEaES
(HENE 80 %) Ao | @

(HfE= 300 %)

= e cl
Gg_ébi—é"éxé ] ﬂ][][j

il el 3l* ..
e T :I—az}?%u[] | | i ;
],_m% A Qj:f” (] 0 s e 'cr. o'
E]Dj% Bl = — N 15 - — ;
=) 23 . N N
o |BEOOo=S % ﬂ r:»..’;. dlogec] PEISE HhISK 7 %
o b a .m Ban
ola gL 1= v k WSS (B0 8 0%) » %‘4
= ‘D":‘\, [y Y :.‘: et o 44' 2 -
Kl =las ool Sl (BAEEE 500%)  |[PIRA{HER]
L el DD DDD ¢ = '. .l] O H 5 L
) i ()| = ; . A

|l
.
i -
.

s | T % W
i -!!Eé
’ _’,: 0
LD
o!!E'P}l'

IGE 3
(B 8 0%)
(BFEER 400%)




